Legyen 2 4+ rx 4+ s = 0 a keresett egyenlet. Ekkor

1 +1+22+1=—r

és
(r1+1)(ze+1)=z1220+ 21+ 22+ 1 = 5.

De a feladat értelmében

Ty + T2 =—p
és
Tr1r2 = (¢,
tehat
r=p-—2, s=q—p+1
s igy

P+ (p-2)x+q—p+1=0
a keresett egyenlet.
(Koffer Béla, Budapest.)
A feladatot még megoldottdk: Bendl K., Chambrée M., Csada I., Dénes M., Erd6s V., Fried E., Fiistos P., Kirchknopf

E., Kiss J., Kovacs Gy., Lazar B., Miklossy K., Neumann L., Paunz A., Sarkozy P., Strasser 1., Szilard V., Tandlich
E., Viola R., Wahl V.



